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QUESTION 1

How should \\'done\\' be defined when multiple teams are working on a single product?
A. All teams must have the same definition of \\'done\\'.

B. Each team must define and use their own definition of \\'done\\'.

C. The Scrum Master defines when the item is \\'done\\'.

Correct Answer: A

QUESTION 2

A 200 member project team is working on a large and complex system with multiple sub- systems. They would like to
start using the Agile Scrum methodology.

As a Scrum Master, what would your best advice be?

A. Scrum is not suited for such a large project. The team should clearly use the Waterfall method or the Crystal Clear
method.

B. Ask all potential members of the project team to have a meeting first and decide if they agree to use Scrum.

C. Agree a logical sub-division of the system so that smaller Scrum teams can work on sub- systems and can add
tangible value.

Correct Answer: C

QUESTION 3

How does Agile bring predictability to the Planning process?

A. By allowing the customers to review the progress often.

B. By assigning most of the responsibility to the Product Owner.
C. By making the team self-organized and self-planning.

D. By providing early visibility into the team\\'s progress.

Correct Answer: D

QUESTION 4
Who is responsible for implementing the actions agreed upon by the team during a Retrospective?

A. The Product Owner
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B. The Scrum Master
C. The team

Correct Answer: C

QUESTION 5

What is the usual length of the time box for the complete Sprint Planning meeting?
A. Four hours for a 30 day Sprint, one to two hours for a shorter Sprint.

B. However long it takes to complete the Sprint Backlog.

C. Never more than two hours, regardless of Sprint length.

Correct Answer: A

Latest EX0-008 Dumps EX0-008 Practice Test EX0-008 Braindumps

Latest EX0-008 Dumps | EX0-008 Practice Test | EX0-008 Braindumps 3/3


https://www.pass4itsure.com/ex0-008.html
https://www.pass4itsure.com/ex0-008.html
https://www.pass4itsure.com/ex0-008.html
http://www.tcpdf.org
https://www.pass4itsure.com/ex0-008.html
https://www.pass4itsure.com/ex0-008.html
https://www.pass4itsure.com/ex0-008.html

